QUESTIONS: THE GRAPES OF WRATH (TEACHER GUIDE)

1. Cis correct because the passage is a conversation between the landowner and tenant over what
should be done with the land.

2. Eis correct because neither character is telling their perspective.
3. Ais correct due to the tone of the conversation between the tenant and landowner in the passage.
4. Gis correct because the passage focuses on the struggles of the tenant.

5. D s correct because the passage references the difficulty in growing cotton.
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